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Geometry Test Review

Simplify the expressions. No decimals.
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Find the value of sine, cosine, and tan?_:;ent for the indicated angles. Simplify your results.
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Find the value of each variable. Round your answers to the nearest hundredth.

6.)

5.) |
30
7V

201 @O
7) N N N3] 20
60° 3
=3
N
- %_:@,
n Z

5

A IRlE c

(o) =

SIS 49
e Q= 2.5
o=

oS F2 %.2%-

n
8.)
w{2=0s 4 . _
A“ @%@
N

N = 22 N )/\ (Y)Q
T2 ac
\= Qéﬁ'
o



Solve each right triangle. Round your answers to the nearest hundredth.
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Find the area and perimeter of the shaded region. Round your answers to ti;aé- nearest
hundredth.
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Draw a picture and solve the problem (round to the nearest hundredth). Don’t forget to label your answer.

17.)  Alicia is hang gliding off a cliff that is 120ft high. She needs to travel 350ft horizontally to
reach his destination. To the nearest degree, what is the angle of depression, A?
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18.) Danny is trying to reach a window with a ladder that is 15ft long. Find the angle of elevation
that the ladder must form with the ground in order to reach a window that is 11t high.




